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Unit 3, Lesson 15: Finding This Percent of That

1. a.To find 40% of 75, Priya ca|culates < . 75. Does her calculation give the correct value for 40% of

75? Explain or show how you know.
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b. If x represents a number, does % - x always represent 40% of that number? Explain your
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2. Han spent 75 minutes practicing the piano over the weekend. For each question, explain or show your

reasoning.
Lo
a. Priya practiced the violin for 152% as much b. Tyler practiced the clarinet for 64% as much
time as Han practiced the piano. How long time as Han practiced the piano. How long
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3. Last Sunday 1,575 people visited the amusement park. 56% of the visitors were adults, 16% were
teenagers, and 28% were children ages 12 and under Find the number of adults, teenagers, and

children that visited the park. e fa_z_cp b
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Unit 3: Unit Rates and Percentages Lesson 15: Finding This Percent of That
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Unit 3, Lesson 16: Finding the Percentage

1. A sign in front of a roller coaster says "You must be 40 inches tall to ride." What percentage of this

height is: 34 3440 .85 = 35 - 25 Yo

a. 34 inches? L/o /OO
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2. At a hardware store, a tool set normally costs $80. During a sale this week, the tool set costs $12 less
than usual. What percentage of the usual price is the savings? Explain or show your reasoning.
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3. A bathtub can hold 80 gallons of water. The faucet flows at a rate of 4 gallons per minute. What

percentage of the tub will be filled after 6 minutes? ) =
- Qlfj glf2ns (n bmu

H jq|10ﬂs X b m ;
24 gallens _ 3 = 2 30-30%/]

=15 = 5% -
/00 /

80jq”om5 /O /00
4. The sale price of every item in a store is 85% of its usual price.
a. The usual price of a backpack is $30, what is-itssale price? . -
B 50.30%85 "
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b. The usual price of a sweatshirt is $18, what is.its sate-pfice?
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